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NoTE:— Answers may be written either in English orin Hmdz, but the same medium
should be used throughout the. paper. :
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| Attempt one question from Part A and three questions from PartB.
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Questions in Part A carry 1 5 marks and questions .
in Part B carry 20 marks.
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| PARTA (T 37)

1. Compare and contrast social action with social practicc.__
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2. Examine the relationship between 1nd1v1dua1 and soc1ety as elaborated in the |
~ theories of Berger & Luckmann and Goffman.
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PARTB (‘qm )

3. DlSCllSS the analysis of social systems as put forward by Parsons
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4.

Elucidate .the dramaturgical perspectlve on social 1nteract10n in closed
establishments. '

mwﬁwﬁmmmmmqﬁﬁmmﬁﬁmﬁm

: How do Berger and Luckmann Iocate language in the context . of soc1a1'A

interaction?
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, Accordmg to Marcuse, how can the chain of growmg productmty and repressmn

be broken? - -
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Discuss Bourdieu’s concept of habltus with the help of an illustration.
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